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Variable in functions in a demo
ré&lfunr

var & 16

Variable in functions in real life

ré&lfunr

b<& cgood

var &< ahoob

Is var localized?

Are a and b localized?

And c and d?

And inside hoo is everything localized?

And inside goo?
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myvar={}
myvar~+0
SYNTAX ERROR: Invalid modified assignment, or an attempt was made to change nameclass on assignment
myvar+0
A



What we learned

Even if it’s scary, never avoid new developments just because
you’ll have to deal with a lot of old code that has to be updated or
with things you never see before

Have a way to organize the list of all semiglobals you use in the code
(we used different variables: one for every Sofia environment with
the list of semiglobals linked to that environment)

Use the above mentioned variable with names of semiglobals when
you need to localize them all in one go; makes things easier to
maintain especially when GUI is involved.

You are not alone, so ask for help: if you work in a company
remember that your success in the project will also be a success
for the company, so your colleagues will be happy to help in
making your company successful
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